Chapter 20: Gantt Charts (FPM2ed p.252)
1. Gantt Chart

2. Body of Knowledge Mapping

3. How to Draw a Gantt Chart

4. Tabular Reports

5. Activity Float

6. Hammock Activities
7. Rolling Horizon Gantt Chart

8. Revised Gantt Chart

The following questions have been designed to test your knowledge of the chapter and prompt discussion. Please note that each question could have one or more correct answers.
20.1: Who developed the first Barchart? (FPM2ed p.253)
a. George Gantt.

b. Gannet birds.
c. Henry Gantt.
d. Henry Maslow.
20.1 Answer: C is correct.

20.2: Which three of the following describes a Gantt Chart? (FPM2ed p.254)
a. A vertical barchart that shows the length of each activity.

b. A horizontal barchart that shows the duration of each activity along a timeline.

c. A horizontal barchart that shows the start and finish of each activity.

d. A horizontal barchart where activity information is listed on the vertical axis and the duration is shown on the horizontal axis.

20.2 Answer: B, C and D are correct. The Gantt chart is a horizontal barchart that sets out the start and finish of all the activities along a horizontal timeline.  A is incorrect as the barchart is always shown horizontally.

20.3: The Bar on a Gantt Chart is usually drawn between which one of the following? (FPM2ed p.254)

a. Early Start to Early Finish.
b. Early Start to Late Start
c. Early Finish to Late Start.
d. Late Start to Early Start.
20.3 Answer: A is correct. B, C and D are incorrect.

20.4: Which two of the following describes an Activity Float? (FPM2ed p.256)
a. Activity float is a line on the side of a ship indicating its planned waterline.

b. Activity float is usually shown in the Gantt chart before the start of the activity.

c. Activity float is a measure of how many time periods an activity can be delayed before the activity becomes critical.

d. Activity float is a measure of the time an activity can be delayed until it becomes critical.

20.4 Answer: C and D are correct. Activity float is a measure of the flexibility an activity has before impacting on the critical path. The float is usually shown after the early finish as any delay to the activity will visually move it into the float available. A is incorrect as activity float is not related to a ship’s buoyancy. B is incorrect as activity float is usually shown after the early finish.

20.5: The Activity Float has a negative value of 10 days. Which three of the following will help to complete the project on time?
a. Add more resources.
b. Request for more time to complete the project.
c. Change activity logic from series to parallel.
d. Work overtime.

20.5 Answer: A, C and D are correct. B is incorrect as the question was how to complete the project on time.
20.6: Which two of the following relate to a Hammock Activity? (FPM2ed p.257)
a. A hammock activity is the time to rest the labour force.

b. On a construction project a hammock activity is required by health and safety to install netting under the construction area to protect the workers working below.

c. A hammock activity is a summary activity with a number of sub-activities linked to the early start and late finish of the hammock activity.

d. A hammock activity enables a number of activities to be grouped and rolled up so that they can be reported as one activity. 
20.6 Answer: C and D are correct. A hammock activity groups a number of interlinked activities and shows them extending from the early start of the first activity to the early finish of the last activity. This technique is often used in summary reports for senior management. A and B are incorrect.

20.7: Which two of the following relate to a Rolling Horizon Gantt Chart? (FPM2ed p.258)
a. On a construction site, as the building increases in height, the visible horizon rolls further into the distance. This might be influenced by refraction of the sun’s rays and the declination of the sun.

b. The work planned for the near future (next few weeks) is planned in detail, whereas the work for the long-term future is planned at a higher level (less detail).

c. The rolling horizon calculates the earned value.

d. A short-term horizon (a week or two) enables the project manager to focus on managing the activities that are working or will be working in the next week.

20.7 Answer: B and D are correct. The rolling horizon technique enables the project manager to focus on the part of the project that will be performed in the short term rather than showing all the project’s activities. This is particularly useful on large capital projects. A and C are incorrect.
20.8: Which three of the following relate to a Milestone Barchart? (FPM2ed p.228)
a. A milestone is an activity with zero duration.
b. A milestone has a duration of one day.
c. A milestone is a point in time.
d. A milestone is a target date.
20.8 Answer: A, C and D are correct. B is incorrect.
20.9: Which two of the following relate to the Logic Gantt chart?
a. The logic Gantt chart is so called because it logically follows the WBS.

b. The logic barchart shows the relationship between the activities.

c. The logic barchart shows the logical links between the activities.

d. The logic Gantt chart is drawn before the network diagram.

20.9 Answer: B and C are correct. With the latest computer planning software, the logic Gantt chart is usually one of the display options to show the relationship and dependency between activities. A is incorrect as the logic Gantt chart refers to the logic between the activities not the relationship it has with other techniques such as the WBS. D is incorrect as the logic Gantt chart is drawn after the CPM analysis. 

20.10: Which two of the following relate to a Revised Gantt chart? (FPM2ed p.259)
a. When the project manager picks up a spelling mistake the Gantt chart is revised to include the correction.

b. After the official reporting period (usually weekly) the Gantt chart is revised to show the latest progress. 

c. The revised Gantt chart shows the progress alongside the original planning.

d. The revised Gantt chart is subdivided into two sections so that it can be reported separately.

20.10 Answer: B and C are correct. The revised Gantt chart shows the latest position of all the project’s activities, usually with the latest progress drawn alongside or over the original plan. A is incorrect as revising the Gantt chart refers to updating the project’s performance not correcting typo errors. D is incorrect as the whole purpose of the revised Gantt chart is to combine planning and progress on one document.
